/32/(0)3/830 22 88 — =
REDISPAN : 11/32/50271/20 69 20 S E‘R%dﬂfanJ

FRAME 3 UPRIGHTS
REGALRAHMEN 3 SAULE

Each frame has 3 reversible uprights and a number of horizontal (C) & diagonal (D) bracing. Assemble as shown. Insert the
feet (plastic, plastic adjustable or steel) after assembling the frame. Steel feet are just slided into the upright. Double
uprights only need 1 steel base. The 3rd upright is attached to the first frame with horizontal bracing only (positionning : see
drawing). This bracing is fixed with a M6x15 to the bracing bracket. The bracing bracket is fixed with a M5x60 to the
upright. Insert beams with a hammer and secure with 2 safety pins. Max. distance between 2 levels : 1500 mm. Each level
is composed of 3 T beams or 2 TA beams with 1 T beam in the middle.

Jeder Regalrahmen ist aufgebaut aus 3 Saule (umkehrbar) und Horizontal (C) & Diagonal (D) Streben. Montieren Sie wie
angedeutet. Fuss (Kunststoff, Regelbar order Stahl) setzen Sie nach Montage des Regalrahmen. Der Stahl Fuss ist einfach in die
Saule zu gleiten. Doppele Saule brauchen nur 1 Stahl Fuss. Der 3e Saule ist verbunden mit das 1e Regalrahmen nur mit Horizontal
Streben (Position : siehe Plan). Der Streben ist befestigt an die Streben Klammer mit 1 M6x15. Die Streben Klammer ist befestigt
an die Saule mit 1 M5x60. Balken montieren mit ein Hammer und sicheren mit 2 Sicherungsstifte. Maximum Abstand zwischen

2 Niveaus : 1500 mm. Fur 1 Nivo brauchen Sie 3 T Balken oder 2 TA Balken mit ein T Balken in die Mitte.

N M5X60
4000 kg/frame/ <+ B —»
Regalrahmen

= I

A A D

1000 kg/frame/ l /

Vi M6x15 |M5X60 +bracing bracket
— Streben Klammer i
*ﬂ /]

NSNS

Regalrahmen

B ﬂ- A (mm)=—>|725=1000 1500 1750 2000 2250 2500 3000 3250
(mm)¥ [ (mm) _ (mm) C D C D C D C D C D C D C D C D
200 |C 353|D 623 7] 1 5 2 6 2 6 3 7 3 7 7] 8 2 8 5
500 |C 453|D 684 4 1 5 2 6 2 6 3 7 3 7 4 8 4 8 5
600 |C 553|D 752 4 1 5 2 6 2 6 3 7 3 7 4 8 4 8 5
800 |c 753|D 908 4 1 5 2 6 2 6 3 7 3 7 4 8 4 8 5
1000 |C 953|D 1079 4 1 5 2 6 2 6 3 7 3 7 4 8 4 8 5
M5x60 — 2 3 3 4 4 5 5 6
M6x10(15) 8 (2) 11 (3) 13 (3) 14 (4) 16 (4) 17 (5) 19 (5) 20 (6)

M6x10 : use 6,2 mm perforation / bitte gebrauchen Sie die 6,2 mm Lochung
M6x10 can be replaced by rivets 4,8x12 using the 4,9 mm perforation / M6x10 kdnnte ersetzt werden durch Nietnagel 4,8x12 mm in die 4,9 mm Lochung. mir02d/12-15




